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N.B. .— () Attempt All questions.
(it) All questions carry equal marks.
() ¥ WA Hrea
(i) ®E WEAA FEE O SR
MCQ
1. (@) What is the main objective of the sustainable development ? 10
(A) Economic Growth (B) Basic Needs

(C) Rasing in living standard (D) All of these
e fowmmE=n g&a 3g ®@ R ?

A) e it (B) HoYd TS
(C)  SHagM Gerom (D) aUHT T
@) e, firstly use the word bio-diversity.
(A) Walter D. Rosean (B) Marshall
(C) J. Linda (D) John Cusiak
Sa-fafaear &1 T/ gom e g AT,
(A) dfeer fe. A8A (B) TRi®
) = fder (D) S i
(ziz)  Which of the following energy is include the conventional
energy ?
(A) Solar energy (B) Tidal energy
(C) Wind energy (D) Coal
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ESGUh] I ISl IRUMNE Ioid THEET Bral .

(A) IR 3 (B) Hrd S

(C) wed S (D)  hlcsdl

In ............ year air control of Pollution Act was passed.
(A) 1980 (B) 1974

(C) 1981 (D) 1972

"""""""" I o T UG ST HEHA HITA ST

(A) 1980 (B) 1974

(C) 1981 (D) 1972

Green revolution is related to ..............

(A) Milk Production (B) Fish Production
(C) Agriculture Production (D) Mining Production
BT it FIET Fafa ST ?

(A) Y IR (B) A& 3cdIeH

(C) Pt IeRA (D) @I 3R

Which day is celebrated ozone day ?

(A) 11 July (B) 16 September

(C) 5 June (D) 8 March

Fiv e e feow = Wew sl Sl ?

A) 11 9 (B) 16 9=

C 537 D) 8 ¥~

Which one is the manmade cause of soil erosion ?

(A)  Deforestion (B) Plantation of tree
(C) Gardening (D) Increase of grassland
IV TH HHA FeAes ool gq dar ?

(A) S (B) HEMT INCS

(C) HUT =TS (D) ol WeFl aTEdn
Which is the largest Ocean in the world ?

(A)  Arctic Ocean (B) Atlantic Ocean
(C) Pacific Ocean (D) Indian Ocean

Se gaid A8l HeMTR hivl e 2
(A) eTfes HEMERR (B)
(C) Ufafhre HEMERR (D)

AeTAIeh HIENN
U RS IRIEY
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(ix) Indentified the correct answer pair given below :
(A)  Energy—Power Sources (B) Agriculture—Post Office
(C) Industry—Food Supply (D) Service—Machineries
@ IR Sel el

A)  SSi—Tfos fafHd (B) FE—ure AffHd
(C) EM—TH qLEal (D) Ha—aA
(x) Kolar is famous for ..............
(A) Coal mine (B) Gold mine
(C)  Petrol (D) Iron ore
W .......... w m 3“%- 7
(A) HIBHT @M (B) HH @
©) W (D) JrEE
Theory
What is meant by Sustainable Development ? Explain the factors of Sustainable
Development. 10
TRId o™ WRUS & ? 3RO [aeEd Beeh T A
Or
(fenam)

What is meant by Air Pollution ? Explain the causes of air pollution.
Bl YUVl US| HE ? B YGHUMH HRU TS L

Explain the causes of loss of Biodiversity. 10
Safafasaen gt HRo T H.
Or
(fenam)

Define the Environmental Economics. Explain the concept of Environmental
Economics.

Write short notes on (any two) : 10
(@) Non-conventional energy

(1) Water Pollution

(ziz) Land Degradation and Pollution

@iv) Atmosphere.

P.T.O.
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e femr fogr (R 3m)
0 IR Sl

()  OToft gQET
(i)  HT STeAdt ST ygu
(iv)  STAE
OR
(feram)

(Statistical Methods)
. .— () Attempt All questions.

(i1) All questions carry equal marks.

(zit) Use of calculator is allowed.

(iv) Last page is for rough work.

() ¥ WA Hrea

(i) & WAA FHE O ST

({ii)  TOTHTA ATE AT STR.

(jv) FESH YA I® FHEAEES ATE.

MCQ

(@) Identify true statement from the following data : 10

(A) Correlation answer's limitation is —0 to +1
(B) Correlation answer's limitation is —1 to +1
(C) Every time correlation answer is positive
(D) Every time correlation answer is negative
TTHoUH! T fauam sieen :
(A) HEEEU=Al SUE! ARl —0 9 +1 3TEd
(B) YegeursAl SUUEl FART -1 9 +1 STEd
(C) TREaYT=N SW AeHrE &9 A
(D) TEHAYTAT SR HeHi™ SBUT STHd
(1) Who has framed the first Index Number in the world ?

(A) Italy (B) America
(C) Japan (D) France
S FEYeH oA a3 fdEie TR %l g ?
(A)  ze (B) TR

(C) SUH D) WwE
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Regression tool as used by .................. first time.
(A) Karl Pearson (B) Laspeyre
(C)  Fisher (D) Sir Francis Galton
-q-ﬁ_‘-q-rl-q’—_[ q0 ?isna-[ B-q?:‘n—r[ ga‘-ggrq ................ -q-i:ﬂ. Eﬁw
&)  wHS T (B) omisR
(C) fmr (D) T HIHH e
Which is not one of the following measures of Dispersion ?
(A) Range (B) Quartile Deviation
(C) Mean (D) Standard Deviation
THGUH! DI IO foaoRieard w2
(A) fasr B) =gdw o=
(C) HARR He™ (D) wH foreEe

Calculate the range from the following data :
X =16 21 25 28 30 32 36
(A) 36 (B) 16
© 20 (D) 10
Toe Alfediaed foer dfesd &4 :
X =16 21 25 28 30 32 36

(A) 36 (B) 16
) 20 D) 10
Solve :
sp.- 20 (2)
9 9
(A) 10.48 (B) 9.48
(C) 10.00 (D) 110
gredn
SD. = /@-(9]
9 9
(A) 10.48 (B) 9.48
(C) 10.00 (D) 110

P.T.O.
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( 6)

Calculate Paasche’s index number from the following data :
2p,q, = 620, Xp,q, = 685

(A) 605 (B) 705

(C) 805 (D) 90.5

Toe Hifed=a STUR R fesies &el :
2p,q, = 620, Xp,q, = 685

(A) 605 (B) 705
(C) 805 (D) 905
If a = 10, b = 20, then construct the regression equation X on Y :
(A) Y =10 + 20X (B) X =10 + 20Y
(C) Y =20+ 10X (D) X =20 + 10Y
SR a =10, =20, WX T Y X NRa Aq™@T FHEHOT TR H7 :
(A) Y =10 + 20X (B) X =10 + 20Y
(C) Y =20+ 10X D) X =20+ 10Y
If Q; = 30 and Qg = 60, then find the quartile deviation :
A 15 (B) 0.33
(C) 30 (D) 90
S Q; = 30 M Qg = 60, W =g fode &M@l :
(A) 15 (B) 0.33
(C) 30 (D) 90
Solve :
o "16

V16 V16
(A)  0.50 B 1
< -1 (D) -0.10
Hrean

- -16

V16 V16
(A) 0.50 B 1
< -1 (D) -0.10

R—438/438A—2016
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Calculate the Quartile Deviation and coefficient of quartile deviation from the

following data : 10
X F
0-10 7
10-20 10
20-30 12
30-40 15
40-50 10
50-60 6
60-70 3
Tee Hied=a YR dquie faaed 3 @& o & :
X F
0-10 7
10-20 10
20-30 12
30-40 15
40-50 10
50-60 6
60-70 3
Or
(fenam)
What is correlation ? State the importance of correlation.
qe9dY RS w1 ? He9dd HEd |
Calculate the coefficient of correlation from the following data : 10
X Y
10 50
12 48
15 51
18 45
20 40

P.T.O.
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WSS Afgd=a STER

20
21
25
28
30

8 )

qeqaY U hTE

X
10
12
15
18
20
20
21
25
28
30

Or

(fenam)

47
43
45
41
40

50
48
51
45
40
47
43
45
41
40

R—438/438A—2016

Define Index Number. Explain its importance of index number.

Attempt the following questions (any two) : 10
(@) Calculate Laspeyre’s index number from the following data :
Goods 1990 1999
Price | Quantity Price Quantity
A 50 4 40 10
B 10 3 8 5
C 5 2 3 4

(1) Find out the regression line of X on Y from the following data :
¥X = 30, XY = 40, 3X2 = 220, XY2 = 340, 3XY = 214,

N = 5.

(i1z) Linear and non-linear correlation.

@iv) Standard Deviation
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AUl HIUEl aF T3 S o
@) oG Hifgd=a ATER Sede=n fAesnes Afed 4 ¢

1990 1999
g ferua =T ferua =T
A 50 4 40 10
B 10 3 8 5
C 5 2 3 4

(1)
¥X = 30, IY = 40, X2 = 220, XY2 = 340, 3XY = 214,

N = 5.
Gii) T emfor eRfoT HeHeEy
Gv) gHO fa=ed

@G Aifgdr=ar YR X 9 Y o Teiid 9faqmea I "' a

( 9) R—438/438A—2016
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ROUGH WORK
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